0 S&HMZ35} Jl{=(Introduction of Engineering Biology) 3:0:3
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EB501 2 =82 28t A2l A ZHDesign and build for Engineering Biology) 3:0:3
SEHUES Yol 7|2 H2t2l DBTL & Designzt Buildoll shEtoh= A9t AIZH 21 J|&0| OHE SH2
&l LSt Hio|uk2Ee| HEH A/M XHES Solf DBTL 48 £=2 22 =0(|7| fI8t Hio|ut2=ea] 7|
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EB510 &{Al &AMl 28H(Synthetic biology of nucleic acids) 3:0:3
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LIO{E 7l £7HEtHCh RNA 218, DNA 22(7t0], DNA/RNA Z|gte| §4%Z0f| st HEF
B CHeiZint =% o[20f 2/et DNA/RNA =&, 2|1 Ltojrt ojo|dat HHesiM B 24 7
=0 tiet W8S ChEUCL F2 SEc SdsoA side] =8 7[™E olslist =& 24
7leE &55t0] AL oEE St dF =E& fle HEH XA JlsHel YHE MSS
= A

X 238t 7|=(Genome engineering technologies for synthetic biology) 3:0:3
=8 7|=0 thsf M=RUA CtF0{, 55| CRISPR/Cas9 H
I o AtEEl= CHst =7 & YYHES CHEUICHL
st7| flet #AA HE, ME2 MZF Mz F AX[H O,

2|30 A LHolM el CRISPR HEl 7|=2 AJHELICHL
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EB530 IS X[S2t &4 THHEAI Z5HAl and enzyme protein engineering) 3:0:3

SSHUESIOM A A Z sietel 540t THERL JHZk| Cie MEFEel ofshet &7A =[A 12| & Al
78t Szt 7|2 SEdEh MM TIsel et olsHE flst &40 TIs, BR A HE, SEHEN £
S 22 359 7|2 XAIZ HiZ. 018 7[RIe= 7= 7|dt RMMA|, =1 2K} Fg), A S2 H8st 55
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